
 p
er

 b
in

 (
G

eV
/c

)
TpΣ

0

20

40

60

Leading jet
R∆

00.5
Subleading jet

R∆
0 0.5

 < 0.11JA

Leading Jet Subleading Jet

PYTHIA
+HYDJET

0-30%

(a)

 p
er

 b
in

 (
G

eV
/c

)
TpΣ

0

20

40

60

Leading jet
R∆

00.5
Subleading jet

R∆

0 0.5

 < 0.11JA

Leading Jet Subleading Jet

(e)

CMS
=2.76 TeV

NN
sPbPb  

-1
bµL dt = 6.7 ∫

0-30%

 p
er

 b
in

 (
G

eV
/c

)
TpΣ

0

20

40

60

Leading jet
R∆

00.5
Subleading jet

R∆
0 0.5

 < 0.22J0.11 < A

Leading Jet Subleading Jet

  > 120GeV/c
T,1

p

  > 50GeV/c
T,2

p

π
3
2>  

1,2
φ∆

(b)

 p
er

 b
in

 (
G

eV
/c

)
TpΣ

0

20

40

60

Leading jet
R∆

00.5
Subleading jet

R∆
0 0.5

 < 0.22J0.11 < A

Leading Jet Subleading Jet

(f)

 p
er

 b
in

 (
G

eV
/c

)
TpΣ

0

20

40

60

Leading jet
R∆

00.5
Subleading jet

R∆
0 0.5

> 8 GeV/c

4-8 GeV/c

1-4 GeV/c

 < 0.33J0.22 < A

Leading Jet Subleading Jet

(c)

 p
er

 b
in

 (
G

eV
/c

)
TpΣ

0

20

40

60

Leading jet
R∆

00.5
Subleading jet

R∆
0 0.5

 < 0.33J0.22 < A

Leading Jet Subleading Jet

(g)

 p
er

 b
in

 (
G

eV
/c

)
TpΣ

0

20

40

60

Leading jet
R∆

00.5
Subleading jet

R∆
0 0.5

 > 0.33JA

Leading Jet Subleading Jet

(d)

 p
er

 b
in

 (
G

eV
/c

)
TpΣ

0

20

40

60

Leading jet
R∆

00.5
Subleading jet

R∆

0 0.5

 > 0.33JA

Leading Jet Subleading Jet

(h)


	Contents
	Page 1


